Name: k@ A
a ——
Section: —

EE331 Homework PS1 — fall 2012

Problems from Alexander & Sadiku:

CH1
o 118 (Ans:-300W, 100W, 280W, -32W, -48W)

CH2

e 2.4 (Warm-up!)

o 2.12 (Ans: v; =70V, v; =10V, v; =60V, use KVL)

e 2.26 (find the voltage across the parallel network using the data given for the 1602
resistor and use that voltage to calculate the remaining currents) (Ans: i, = 45A,
Plofa! = 224W)

o 234 (Ans: R.;=100 Ohm, P, =400 W)

e 2.41 (4ns: 16 Ohms)

Additional Problems (Instructor Option):

e 2" page of this Problem Set
e Any as assigned by instructor
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EE331 Homework PS1 — fall 2012

L.1S When a car has a dead battery, it can often be started
by connecting the battery from another car across its
terminals. The positive terminals are connected
together as are the negative terminals. The connec-
tion is illustrated in Fig. P1.15. Assume the current
in Fig. P1.15 is measured and found to be 30 A.

a) Which car has the dead battery?

b) If this connection is maintained for 1 min. how
much energy is transferred to the dead battery?

Figure P1.15
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Chapter 2, Solution 12
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Forloop1l, —-40-50+20+v; = Oorv, =40+50-20=70V

Forloop 2, -20+30-v,

Forloop 3, —v;+v)+v;

=0 o0orv,=3020=10V

=0orv3;=70-10=60V



Chapter 2, Problem 26.
For the circuit in Fig. 2.90, i, = 3 A. Calculate i, and the total power absorbed by

the entire circuit.
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Figure 2.90
For Prob. 2.26.

Solution

If 116=i,=3A,then v=16x3=48 V and ig = 48/8 = 6A; i, = 48/4 = 12A; and
i = 48/2 = 24A.

Thus,
iy=igtig+ia+ig=6+12+24+3=45A

p=(45)°10 + (6)’8 + (12)%4 + (24)*2 + (3)°16 = 20,250 + 288 + 576 +1152 + 144

=20250 + 2106 = 22.356 kW.
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